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Only his father and his mother — IARY 192K RN

OVERVIEW

The 770 writes' 12 17 %P 18] 128 DR DR 72X DR) 1R DX 992 WK WX WK 3. It
is the view of mwx> "1 that (if not for the conclusion of 9% 1K1 1°2K) since it says
K1 AR (with a connecting 1"1) it can mean that he is only liable if he curses his
father and mother (but not if he cursed only one of them). n11 ", however,
maintains that a 7" alone does not necessarily mean both together, unless the 109
writes 1°77°. Our M20N explains the need for 177 and how 011> " derives his view.

STAND PNV YNRYN RINOY
For presumptively (according to 7°wxX> ') the 1" indicates both of them (the
father and the mother) together (even without adding »7°) —

Mmoo responds to an anticipated difficulty:
= 39599 YNYY TPIVNN TIVYWIA TN (25 oram 39NT NN

And this that 177 is written by rwyw; that 177 is necessary to teach us that two

stiches are required to transgress the prohibition of 1uyw,
= YNNI DIIVP PR ITION NN 11N TN IND INT TPI0NN ¢ow) WIIND XDT 11NN

And the Y71 which is written by wynn X2 [do not plow] is also necessary, for if
not for 1715, I would have thought even if they (the 77m 712) are not tied to the

plow -
= AT NN N2 ID2ON IN SHNN N2 DNPNINY NIN

But rather I would think he is liable even if he leads them together, or even one

after the other. Therefore the 70 writes 177 that they both need to be tied to the plow. This

concludes M»oIn comments according to 7w ", Now noon addresses 1n11° " -
=110 2NN Y VIVDIY TY TINT 933 1N *29)

And similarly 3n1 'S who maintains that unless the »109 specifies 1717° it can

10,5 (@w1Tp) X
2 In X 7109 XN it reads 17 2°NWDY X YW wabn X9, Since it states 2°nwDY X (with a 1") so I know that it means
you cannot wear 2°nw91 X together (but you are permitted to wear either %% or 2°nwd separately), why is the word
177" necessary according to 7wR® .
3 Only two stiches make the o°nws1 X together — 17, but not one stich alone (alternately one may wear a garment
of wool and a garment of linen together).
41In > 709 it reads 177> AN w2 W 82, The same question applies here (see footnote # 2); according to MWK ",
why was it necessary to state 171 since it says M M (with a 1"1), we know that it means with a MM W together
(but not separately, which is obviously permitted).
5 Perhaps n901n means that he is plowing (not with a 79m M) and coincidently he is also leading a am MW
together or 1"nX 7112, or he has two plows, or they are pushing the plow (see w"w").
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mean each one separate, even though they are connected with a 1"1;® so 111 ' -
= TEPYINTI PPAVNIN RNT 1N AN NN THIVINTN 90 DNNN NY

Does not derive it from 110y 0°X7D, that since it was necessary there to write
Y7, therefore we can assume the elsewhere it does not mean both together, this is

not his source, for it was necessary to write 171 by 110y 2°k%2 as I explained -
$997 YNWN NNT MNP NI2D1 NON

Rather 101 "1 said his opinion based on logic, for this is the way it seems that
even though there is a 1", that does not necessarily mean that it has to be both together.

SUMMARY
17 by 2°R9D1 TI0YW is necessary to exclude one 719°5n or not tied to the mw
respectively; 1n11° "1 derives his rule based on logic, not from the ‘extra’ 17m°.

THINKING IT OVER

According to 1011 ", logically, a 1" does not mean it has to be together, therefore,
presumably, by 110v¥ (for instance) if the 7710 would not write 171 it could mean
that it is 710K to wear either "nX or 0°nwd; now that it says 17 it means that the
MO°R is only with 2°nws1 X together. How therefore would 011> " derive the rule
of MmN "nw by 1wyw,® and similarly that the 7m W need to be tied to the
W by o°K92.°

61017 "7 maintains that even though two words are connected with a 1™, it does not necessarily mean that we require
both of them together, unless the 70 writes 1777°; presumably meaning unless the 7710 writes 177> as it did by 2°&?2
and 1wYw. One could assume that jn1 '3 derives his rule from the fact that the 770 needed to write 171 by 2°X?2
TIYW, because otherwise we may have thought that it is 710X with even one of them (it would be 710X to plow with
either an ox or a donkey, or it would be MoK to wear either “nx or 2wwd), this proves that wherever the 71710 does not
write 1717, there is no requirement that it be both together. [This seems to be >"w1 nY*w on 7v 7"7 X,7¥.] NN rejects
this notion.
7 The 17 by 1wyw teaches that it must be two stiches, and the 17 by 2°%93 teaches that they must be tied to the
plow (but even without 171 we would know that it must be both 2°nws1 9% by 1YW and 2mm M by 2°X?3). MOOIN
maintains that jn1 " also agrees to these mwn7. Therefore we cannot derive from here that if does not say 171 it can
be each one individually. See ‘Thinking it over’.
8 See footnote # 7.
? See X"2v™ and 0"n.
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